

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		Affiliated to Federation Internation	onale Des Experts En A	lutomo	bile	
	CHOO MOTOR S	PRAY PAINTER	F	Ref:	CS/TP21010556/Uqf3e2	
	1 KAKI BUKIT AV #01-39 AUTOBAY SINGAPORE 417	@KAKI BUKIT	Г	oate:	02/11/2021	
	ON BEHALF OF L	AI SOO KENG	C	ode:	TP510	
1.		Policy Particulars	:- THIRD PARTY	CLAIN	A	
	Insured Veh.		Veh. Inspected		SLW 4167M	
	Policy No.		Coverage (\$)		0.00	
	Claim No.		Excess (\$)		0.00	
	Assign From		Assign Date		13/10/2021	
2.		Vehicle Parti	culars & Condition	1		
	Make & Model	TOYOTA CAMRY HYBRID (A)	c.c		2487	
	Engine No.	HIDDEN	Year of Reg.		2018	
	Chassis No.	AXVH701004729	Colour		BLACK	
	Odometer	87091 KM	Steering		IN ORDER	
	Brakes	IN ORDER	Modification		SPORTS RIM	
	General	GOOD				
3.		Conditi	ons of Tyres			
		Size	Make		Balance	
	R/H Front Tyre	225/45 R18	CONTINENTAL		6 mm	
	L/H Front Tyre	225/45 R18	CONTINENTAL		6 mm	
	R/H Rear Tyre	225/45 R18	CONTINENTAL		6 mm	
	L/H Rear Tyre	225/45 R18	CONTINENTAL		6 mm	
4.			on of Damages			
	THE VEHICLE SUSTAINED DAMAGES AT THE REAR PORTION. THE CHASSIS FRAME AFFECTED DUE TO COLLISION.					
	DAMAGES SEE D	ETAILS.				
5.		General	Information			
	Accident Date	09/10/2021	Inspection Date		13/10/2021	
	Survey held at	CHOO MOTOR SPRAY PAINTE	R			
		1 KAKI BUKIT AVENUE 6 #01-39 AUTOBAY@KAKI BUKIT SINGAPORE 417883				
5a.		Re	emarks			
	A)THE INSPECTION B)IN ACCORDANCE	N WAS CONDUCTED ON A"WITI E TO YOUR INSTRUCTIONS, WI	HOUT PREJUDICE" E HAVE NOT AUTHO	BASIS	D REPAIRS	
5b.		Estimate Days of Repair				
	TECTIMATED MODA	MAL PERIOD FOR REPAIR:			ing Days	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLW 4167M

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOTLID	BADLY DENTED	1,355.10	1,090.92
2	BOOTLID REFLECTORS @\$554.80	CRACKED	1,109.60	1,104.20
1	BOOTLID INNER LOCK	TWISTED	450.10	354.80
1	BOOTLID INNER TRIM	DISTORTED	388.90	301.68
2	BOOTLID HINGES @\$175.45	O/S BENT / N/S TO REPAIR SEE LABOUR	350.90	175.45
1	BOOTLID WEATHERSTRIP	TWISTED	228.61	228.61
1	BOOTLID OUTER HANDLE	TWISTED	588.95	225.10
1	BOOTLID REAR LOGO	NECESSARY	105.00	105.00
1	BOOTLID 'CAMRY' EMBLEM	NECESSARY	68.80	62.10
1	BOOTLID 'HYBRID' EMBLEM	NECESSARY	85.00	85.00
1	REAR BUMPER	DISTORTED	845.10	488.95
1	REAR BUMPER LOWER DIFFUSER	DISTORTED	488.50	450.10
2	REAR BUMPER SIDE RETAINERS @\$72.40	BENT / CRACKED	144.80	144.80
2	REAR BUMPER REFLECTORS @\$100.70	CRACKED	201.40	201.40
1	REAR BUMPER UNDER COVER	DISTORTED	466.80	315.10
1	REAR END PANEL	BADLY DENTED	850.10	610.10
1	REAR END PANEL TOP GARNISH	DISTORTED	429.10	383.15
2	TAILLAMPS @\$885.10	CRACKED	1,770.20	1,770.20
2	TAILLAMP LOWER BRACKETS @\$55.90	N/S NOT NECESSARY / O/S CRACKED	111.80	55.90
2	TAILLAMP BLACK GARNISHS @\$42.70	CUT	85.40	85.40
1	TAILLAMP HOUSING PANEL O/S	BADLY DENTED	366.50	321.70
1	REAR FLOOR PANEL	CRUMPLED / BUCKLED	1,148.10	1,148.10
1	REAR FLOOR PANEL TOP BOARD	WARPED	520.50	481.76
1	REAR FLOOR PANEL TOOLS SPONGE	DISTORTED	515.15	462.15
2	REAR FENDERS @\$1065.30	N/S TO REPAIR SEE LABOUR / O/S BUCKLED	2,132.60	939,25
2	REAR FENDER INNER TRIMS @\$566.10	DISTORTED / TORN	1,132.20	1,094.86
1	REAR EXHAUST	TO REPAIR SEE LABOUR	882.10	-
1	REAR EXHAUST HEAT SHIELD	BENT	150.70	150.70
2	REAR EXHAUST MOUNTINGS @\$60.00	NOT NECESSARY	120.00	-

Report Ref No. CS/TP21010556/Uqf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

and the second				Page No.:2 of 3
Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REAR DOOR O/S	TO REPAIR SEE	1,459.10	-
	REAR DOOR INNER LOCK O/S	DAMAGED / SHORTED	622.10	622.10
	REAR WINDSCREEN MOULDING	NECESSARY	115.00	115.00
	REAR FENDER UNDER SHIELD O/S	TORN	493.10	493.10
	REAR BATTERY HOUSING PANEL O/S	BADLY DENTED	593.20	593.20
	REAR BATTERY SPONGE	TORN	105.20	105.20
	REAR BATTERY BRACKET	BENT	108.30	108.30
1	REAR BATTERY TOP BOARD O/S	WARPED	145.10	145.10
	REAR CHASSIS MEMBER O/S	TO REPAIR SEE LABOUR	1,099.10	-
1	REAR ANTENNA SENSOR	SHORTED	166.50	166.50
	REAR WHEEL HOUSING PANEL O/S	TO REPAIR SEE LABOUR	981.10	-
	LESS 25% DISCOUNT		-5,744.95	-3,796.25
	SPECIAL NETT ITEMS		17,234.86	11,388.73
1	SET BOOTLID INNER TRIM CLIPS (SN)	NECESSARY	50.00	50.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	50.00	50.00
1	SET REAR BUMPER DIFFUSER CLIPS (SN)	NECESSARY	50.00	50.00
1	SET REAR BUMPER REVERSE SENSOR (SN)	SHORTED	280.00	200.00
1	SET REAR REVERSE CAMERA (SN)	SHORTED	380.00	300.00
1	SET REAR BUMPER UNDER COVER CLIPS (SN)	NECESSARY	50.00	50.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	50.00	50.00
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	50.00	40.00
1 1	REAR WINDSCREEN INNER SEAL (SN)	NECESSARY	50.00	40.00
1	SET REAR FLOOR PANEL INSULATOR (SN)	NECESSARY	480.00	150.00
1 1	REAR BATTERY (SN)	DENTED / DAMAGED	680.00	200.00
1 5	SET REAR FENDER INNER TRIM CLIPS (SN)	NECESSARY	50.00	50.00
1 5	SET REAR FENDER UNDER SHIELD CLIPS O/S (SN)	NECESSARY	50.00	50.00
1 8	SET TAILLAMP CLIPS (SN)	NECESSARY	20.00	20.00
1 F	REAR LICENCE PLATE (SN)	SERVICEABLE	50.00	_
			2,340.00	1,300.00
<u> L</u>	_ABOUR		,	
	TO CHECK WIRING.		50.00	30.00

Report Ref No. CS/TP21010556/Uqf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

16,000.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	TO DISMANTLE & REPLACED REAR REVERSE SENSOR.		80.00	50.00
	TO DISMANTLE & REFIX CUSHION UPHOLSTERY.		150.00	100.00
	TO DISMANTLE & REFIX BOOTLID MECHANISM.		100.00	60.00
	TO DISMANTLE & REFIX REAR WINDSCREEN.		150.00	120.00
	TO DISMANTLE & REPLACED REAR REVERSE CAMERA.		100.00	50.00
	TO DISMANTLE & REFIX REAR EXHAUST.		100.00	60.00
	TO DISMANTLE & REFIX REAR UNDER CARRIAGE.	NOT NECESSARY	250.00	-
	TO CONDUCT WHEEL ALIGNMENT.	NOT NECESSARY	100.00	-
	TO CONDUCT CHASSIS ALIGNMENT.		380.00	350.00
	TO DISMANTLE & REFIX REAR DOOR MECHANISM.	NOT NECESSARY	180.00	-
	TO RESET & REPROGRAMME DIAGNOSIS SYSTEM.		180.00	100.00
	TO SPRAY RUST PROOFING.		180.00	150.00
	LABOUR FOR PANEL BEATING & REPLACED PARTS. INCLUSIVE OF THE REPAIR OF BOOTLID HINGE N/S, REAR FENDER N/S, REAR EXHAUST, REAR DOOR O/S, REAR CHASSIS MEMBER O/S AND REAR WHEEL HOUSING PANEL O/S.		3,800.00	
	TO PUTTY & SPRAY PAINTING.		2,500.00	
	TO DISMANTLE & REFIX FUEL TANK.		100.00	
			8,400.00	5,130.00
	GRAND TOTAL		27,974.86	17,818.73

Report Ref No. CS/TP21010556/Uqf3e2

RECOMMENDED COST OF REPAIR SUM

CHUA KANG SENG

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report,

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.